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Die folgenden Terme sind - wenn möglich - in Produkte umzuformen: 
 
a) (a  4c) (n 1) n 1+ ⋅ − − +
 
b)  (w k) (n 1) 1 n+ ⋅ − − −
 
c) (2  b 6c) (1 n) n 1− ⋅ − + −
 
d)  2 (cd a) (n 1) 2n+ − ⋅ + +
 
e) (1  n) (x y) n 1+ ⋅ + − −
 
 
Lösung: 
 
a)  
(a 4c) (n 1) n 1 (a 4c) (n 1) (n 1) (n 1) (a 4c )1 1+ ⋅ − − + = + ⋅ − − = − ⋅ +− ⋅ −  
 
b)  
(w k) (n 1) 1 n (w k) (n 1) 1 (1 n)+ ⋅ − − − = + ⋅ − − ⋅ +  
 Dieser Term lässt sich nicht in ein Produkt umwandeln. 
 
c) 
(2b 6c) (1 n) n 1 (2b 6c) (1 n) ( n 1) (2b 6c) (1 n) (1 n)

(1 n) (
1 1

2b 6c 1)
− ⋅ −− ⋅ − + − = − ⋅ − − + = − ⋅ − −

= − −− ⋅
⋅

 

 
d)  
2 (cd a) (n 1) 2n (cd a) (n 1) 2n 2 (cd a) (n 1) 2 (n 1)

(n 1) (cd a 2)
+ − ⋅ + + = − ⋅ + + + = − ⋅ + + ⋅ +

= + ⋅ − +
 

 
e)  
(1 n) (x y) n 1 (1 n) (x y) (n 1) (1 n) (x y) (1 n)

(1 n) (x
1 1

y )1
− ⋅ −+ ⋅ + − − = + ⋅ + + = + ⋅

= + ⋅ + −
⋅+ +

 


